Place a marker in the appropriate hour
box and the TURN marker in the

HOUR

1315 would be represented with a
marker in the 1300 box and the

current turn segment :15 center segment.
: 0000|0100
in the center. 2300 0200
2200 0300
2100 0400
2000 0500
1900 0600
1800 0700
1700 0800
1600 0900
1500 1000
1400 1100
1300 | 1200
Place a marker in the appropriate hour HOUR 1315 would be represented with a
box and the TURN marker in the marker in the 1300 box and the
current turn segment :15 center segment.
: 0000|0100
in the center. 2300 0200
2200 0300
2100 0400
2000 0500
1900 0600
1800 0700
1700 0800
1600 0900
1500 1000
1400 1100
1300 | 1200




